Maths
AAonL&py: Mini assessment

7h25d@y:

Video: Auth.6.2 - Com,p,a,rison sum and difference on Vimeo

o The bar chart shows the number of visitors to @ museum in a week. o Two children are asked to find out how many hours of sunshine

14 there were altogether.
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a) How many more visitors went to the museum on I
Iceland ol
Tuesday than on Wednesday? 1
b) What is the difference between the number of visitors Key -jc:(- = 3 hours

on Monday and the number of visitors on Friday? a)

¢) What was the total number of visitors for the whole week?

d) If there were 3 times as many visitors on Saturday as there were on @
Thursday, how many people visited on Saturday?

1 can find out how
many hours sunshine each
country has and then add up
all the totals.

Use Mo's method to
calculate the total hours
of sunshine.

o The pictogram shows the points scored in a game by five teams. b) 1 can count how .
Ty FORE many sunshine symbols there Use Rosie’s methed to
£ are altogether and multiply calculate the total hours
Red . . . I that by 3 of sunshine.
Blue . r Which method is the most efficient?
Green . . [ Key [ = 4 points Will that always be the case?
velow | "
Pink o The bar chart represents the number of goals scored
a) Write <, > or = to compare the points scored by the teams. by four footballers.
Use the clues to complete the
Red O Blue and Green Red and Green OYellow and Blue P 2
bar chart.

Red and Blue O Green and Yellow Blue and Green OYellow ® Tom has scored 13 fewer

goals than Aisha.
¢) Teddy is working out the difference in points between the

® Aisha has scored twice as
Red and Green teams.

many goals as Huan.

number of goals
(-]

I can work out

=

». [ how many points each team ® Huan and Nijah combined Aisha  Huon  Nijah
( scored and then subtract
e? » ane from the other, have scored a total of 20 goals. foothaller

Is there another way Teddy could work out the answer?


https://vimeo.com/462718768

Wo,drw,sday :

Video: Autb.6.4 - Read and interpret line \gra,’nh,s on Vimeo

0 The graph shows the height of a sunflower on the e The groph shows the population of o town ot the end of eoch decode
first doy of eoch week for 6 weeks, from 1950 to 2000
©) What is the height of the sunflower at the start of week 37 ©) What was the population at the end of 19807
b) What is the height of the sunflower at the start of week 27 b) What was the population at the end of 20007
<) Eva thinks the height of the sunflower ot the stort of week 4 is 75 cm. <) Can you occurately tell the population in 19917 Why?
Exploin why Eva is wrong. d) Which decade had the leoast population increase?
d) By how much does the sunflower grow from the start of week 3 to the e) Predict the populotion at the end of 2020

start of week 67 Compare answers with a partner.
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o This graph shows the average rainfall in London and Manchester to the nearest
5 mm.
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a) How many millimetres of rain falls in London in May?
b) Which months are the driest in Manchester?
<) Which is the wettest month in London?
d) In Jonuary, how much more rainfall is there in Manchester thon London?
e) How many months does it rain more than 50 mm in London and Manchester?
f) How much more rainfall is there in Manchester than London in December?


https://vimeo.com/464199069

ﬂwrsday
Video: Aut5.6.5 - Draw line 9ra’p,hs on Vimeo

0 The table shows the weight of a horse at the end of each 6 The table shows the height of a child from 0 to 10 years of age.
week for 8 weeks.
Ageofchid| o [ 1 [2[3|a|s|6|7]8]9
Week 1 2 3 4 5 6 7 8 .
Height of
e..g 50|76 | 86 | 95 (102|110 115|122( 128|133
Weight (kg) | 45 55 70 80 95 100 | 100 | 120 child (cm)

a) Draw a line graph to represent this data.
Plot this information on the line graph. i 5 1
b) Estimate the height of the child at 7-and-a-half years old.
The first two points have been plotted for you. ) .
Explain your estimate.

1207
110 - b b
! ! ! ! | e This table shows the conversion between miles and kilometres.
L I I N N I I I Miles o | 5 |10/ 2 | so0
90 -4 . i : t ' : : | Kilometres 0 8 16 32 80
80 - | | ] | | ! | a) Plot this data os a line graph.
| [ [ | | ‘ b) How many kilometres is 15 miles?
= 70+ 1
x ¢) How many miles is 60 km?
£ 60+
2 | ! ! |
g 50 '," o This table shows the time for sunrise and sunset in a town on the
. | | | | | | first doy of each month.
40+
Jan Feb Mar Apr May Jun
304 Sunrise | 8:00 | 7:30 | 630 | 600 | 530 | s:00
20 Sunset 16:00 16:30 17:30 19:30 | 20:30 | 21:00
10 4 ! { ! 4 ! Jul Aug Sep Oct Nov Dec
0 I I I I N Sunrise | 4:30 | 500 | 600 | 700 | 7:00 | 7:30
1) T ¥ T 1 1 Ll 1
0 1 & 3 4 & 6 F 8 Sunset | 21:30 | 20:30 | 19:30 | 1830 | 16:30 | 16:00
week

Plot the information into one line groph with two lines.

Fi eray :
Arithmetic (use PP on wehsite to hzl,o,).

26.10.21

Arithmetic [O: Ta‘oa.lcuiab.mmusmg a formula..
[ know-that | can use the method of counting squares tor
Icancompmandcalcuiaﬁaams.

| understand what it means to- wse the most gﬁcwwn.t
method.



https://vimeo.com/464197707

What is the maost efficient method for ca,LcuLa,tULg area?

Can you tell me the fo*rmu,La, we use?

areq = heLght x width

Choose which questions you think suit your current

WoT/ang level.
Your turn! (Not to- scale)
Calculate the area of these shupzss
1) l6cm 3) 4

bm
sieqe 2 and 3
e Your tumn! (Not to scale)

2) L) Calculate the area of these 5ha7cuas:

12em 1) bcm 3) EiL

5

3cm llem
k)

2)

[Z2cm



Extension: .

6cm

This comlaound, sha,pe
has an area of 3hem

squmd.

Qcm

Expla,m, Why this is

Lem

PLerLaJy :

True or false,: the fomula for
ca[cu[atmg area is Length + h,ei,\gh,t.

Tell your partner what the formula is and whg

using this is most eﬁ&cﬂent.



